NCERT EXEPMLAR 400 QUESTIONS - SET 7

Q 121: Clear nights are colder than cloudy nights because of — ? /&TH Icl TGl ATell Tl & F1ET 337 8Iel o,
Fifeh — 2 [NCERT Exemplar]

(A) conduction/dTefe

(B) condensation/&&TqoT

(C) radiation/fafeRzoT

(D) insolation/'\q‘:qm'q

*  Clear nights are cooler than cloudy nights because clear skies allow the Earth's heat to escape into space more
easily, while clouds reflect this heat back toward the Earth's surface.

* W T STGel aTell Tl ¥ SATET S8 BIell &, Frdifeh AT HTHHATT 7 Gl § foieholey arell aradf iaRer #
AT & Xl ST &, ST STget 39 AT @1 arad Jedt & Jelg A AR Rafdd a2 & §.

Q122: Which of the following is an aldehyde?/faeaToi@d 7 & HlaT AT tfesgss &?
(A) Propanal /STdeTel

(B) Propanol/Fﬂ'q?-ﬁ?-r

(C) Propine/9TdsT

(D) Propanone/Sdeltet

Aldehydes are an important functional group in organic chemistry. They consist of a carbonyl group (C=0)
attached to a hydrogen atom and another carbon group (R), with the general formula R-CHO.

- ufesgrss, FEfee TR A 7 T Agcaol FRAcHS THE & | 316 T Faifelel T (C=0) BT § 3t

Teh BI3Iolal URATY] 3R Teh 31 hleiet HHE (R) & SIST &1l ¢, TSl THT g R-CHO gIelr g,
*  Examples of aldehydes include formaldehyde (HCHO), acetaldehyde (CH3CHO), and benzaldehyde
(C6H5CHO).

.« fo3gmEs & 3emervlt & widfessss (HCHO), THIefesg1es (CH3CHO), 3R difesgss (C6H5CHO) enfaer
g.

Q123: Color of light is determined by its?

TehTeT T 3T 38 ¢anT iR glarg: 2

(A) dimension/3T—-ITH

(B) wavelength/daT e

(C) Intensity/cTerdr

(D) Velocity/d3T
e  The colour of light is determined by its wavelength.
e Visible light waves have different wavelengths.

e Red light has the longest wavelength (about 700 nm) while violet light has the shortest wavelength (about
400 nm).

o I H W IFH qGEd @anT iR g &

o T YT a@l F Affed TReced i g

o TSl YohIRT &7 TREICEY FaW 318 BIcdl § (SRISET 700 nm) STk ST o7 T RGeS Tad
T BT § (STTSTaT 400 nm)|

Q 124: As the frequency of a wave increases, what happens to its wavelength?/?h# T foRedT e 3-117{1% CL5)
&, 3P AWTCES IR T YHIT 9T 82 [NCERT Exemplar]
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(A) It increases/Ig Tl &

(B) It remains the same/dg a‘é‘r Igdrl %}

(C) It decreases/Ig Tl %

(D) There is no connection between the two/alall oh ST IS T el &

Q 125: No current will flow between two charged bodies if they have the same .2 /ey 3mafdrd [st &
PIS YRT YATRd oTal gIei T Selch UTd FHTT &1 [NCERT Exemplar]

(A) Resistance/STcRIer

(B) Charge/3TTaer

(C) Potential/fasTa

(D) charge/31Taer

*  When two charged bodies are connected, current flows only if there is a potential difference. Potential
difference means that one body is more energetic than the other, and the charge from this energetic body flows
towards the less energetic body, producing current.

»  If the potential of the two bodies is the same, there will be no potential difference between them, and hence no
current will flow.

*  For example, if two bulbs are connected to a battery, the potential of each bulb will be equal to the potential of
the battery. In this case, no current will flow in any of the bulbs, as there is no potential difference between the
two bulbs.

.« 9 ar 3T RSk Y SisT ST &, A [T 3R 8l IR &Y URT yaTied gl &1 fasta iR T Al & &
Teh U5 q@R Y Jofell # 318 Foflare 8, 3N 58 Foilare s & 12T A Soiare s 6T 3R garfgd giar
¢, TTad a7 3c9eT gl §.

- i qt TSt o fasTa GATE &, Y 37 1 RS 391 3iaT w18 g1, 33 SafoT IS ey warfed &7 arem.

«  3EEIT & fIU, 3PN &Y Scdl &l Ueh el T ST SATaT &, Y Ucdeh dod ol (99 sl & 999 & sRIeT gl |
= Feufa , ey off Soa & 1S &R aTied 48T grel, Fifer Sl Toall & ST IS Aera I 8T &

Q 126: Which element is used as timekeeper in the atomic clocks? /‘?R?:lTU_I EI%ZIT H E'IBU:ITﬁ'CIT FETH P aca
T 3TAT fohaT STAT &2 [NCERT Exemplar]

(A) Potassium/are TR

(B) Magnesium/ﬁ??h‘fﬁ\mﬁ

(C) Cesium/&ToT T+

(D) Vanadium/d=1fSa#®

Atomic clocks measure time based on the oscillation of atoms.

*  The caesium-133 isotope, a type of caesium with 133 protons and neutrons in the nucleus, is used to measure
time in atomic clocks.

*  Caesium atoms are very stable and their electrons have a very specific frequency of vibration, which is used as
the basis for timekeeping in atomic clocks.

»  This frequency expresses the rate of transitions between atoms due to microwave radiation at a certain
frequency, allowing time to be measured precisely.

* URAY] "TSIT RATIL3T o alefel & TR TR FHI AT €.
. WEEA-133 SACY, WIFTH 1 T YR &, Torasd A1 7 133 Pele 3R i g &, WAy afsar
H GHIT A & o0 SEdATS fohar ST &.
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- o e Sga RRR BT § 3R 357 Sorreiel & ahuet &1 Uk a5 & faflrse smgf g €, forae
3YATET TRAT TS H FHI-TAUROT o TR o F9  FohT ST &.

- IE G Ueh AT 3Tqicr oY AT Tfehor o HRUT RATILHT & el HehaAuT ohY & 3l Sl el &,
S ad TAT S T T T ATIT ST Thl 6.

Q 127: In nuclear reactors, graphite isused asa___?/ 9TATIT RuaFet A Jwrse &1 39T v w9 & fovam Srar
%’? [NCERT Exemplar]

(A) Lubricant/Tigeh

(B) Fuel/3¥5eT

©) Moderator/HTSYeT

(D) All of the above/39RIerd T

Graphite is mainly used in nuclear reactors as a moderator.
* It helps to slow down the speed of fast neutrons produced in a nuclear reaction, allowing the reaction to
continue in a controlled manner.

+ TRAY] RUF A YIS T 39T HET §9 H FHeeh (moderator) o ®9 H T ST &
« Ig AR wfAfehar 7 3cuee giet arel el =ggieil hr 1Y Y A Hlet (AT at) 7 Agg el 8, forad
EIGIERIRERIECEE R R IR IS

* A nuclear reactor is a device used to produce energy through nuclear fission. It can be used as a source of
energy, such as generating electricity, or to produce neutrons for various applications, such as producing
isotopes.

« oRATY] RUareX Ueh THT 3YOT § Sl SRATY] faEse & ATEAH  Foit UeT et & forw sectarer fonam ST
€1 58 il &1 Teh FIcl oh T H ST T ST Tehell &, S T TorsTell Yet hta, a1 fafdiest rgortatt &
T Sglet &1 3cuTeet e, S o 3T EteT & 3cues |

Q 128: Which Chemical compound is called Pearl Ash?/f& TraTI e TR Y Tel A gl SATAT &2 [NCERT
Exemplar]
(A) Potassium Chloride/dT¢ fRITH FeR1SS

(B) Potassium Bromide/aTeIT# SIASS
(C) Potassium Sulphate/de fRIIH Hethe
(D) Potassium Carbonate/ATCTRIIH HIafaic

e K2CO3 or Potassium Carbonate is known as Mukta Bhasma.
e In ancient times, Mukta Bhasma was made by burning potash in a kiln to remove impurities.

o K2CO3 3T URRITA Frefeic I HFdl A & T H ST AT g
o U Il H FHFdl A T YEAA HT g el & AT S F eI T I FARAT STl
|

Q 129: What is the chemical name of Chalk?/dTeh 3T THTATIeh ATH AT &2 [NCERT Exemplar]
(A) Calcium Sulphate/éﬁ%?l’q?:l' Tothe

(B) Calcium Nitrate/sh [oRTIH ATS¢C

(C) Calcium Phosphide/a?‘l%ﬁl'qﬁ WTTWIE’EI

(D) Calcium Carbonate/Sh [RTIH FIafec
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e  The chemical name of chalk is calcium carbonate (calcium carbonate). Its chemical formula is CaCO3.

o UF FH TERAE AH HTEHA FElele (FTovA Felde) g1 sHH TE™AAS I CaCO3 ¢l

Q 130: Waves which do not require any material medium for their propagation are 2/ 3T Toleg 379e¥ TaOT
& Torv foralT siifares ATeTeT &y 3maasar g giar, 3¢ 2 [NCERT Exemplar]

(A) Matter Waves/9&rey aia1

(B) Mechanical Waves/JT{3eh aiar

(C) Elastic Waves/elFIgR aar

(D) Electromagnetic Waves/ﬁﬂ?fﬁﬂﬁq T

e  Waves can be broadly classified into two main categories: mechanical waves and electromagnetic waves.
e  Mechanical waves require a medium (like air or water) to travel, while electromagnetic waves do not.

o JWN H AT AN W T AT AT 7 Tl frar o7 Fhar §: TifFF a@ 3R faega graha
AT IIRAF TN F AT WA & AT T ACIH (S 4T IT 9r6l) Y 3EIHar gl g, TR
fega g aie &t 7

1. Mechanical Waves:
e Transverse Waves: The disturbance (vibration) of the medium is perpendicular to the direction the wave
travels (e.g., water waves, waves on a string).
e Longitudinal Waves: The disturbance of the medium is parallel to the direction the wave travels (e.g.,
sound waves).
e Surface Waves: A combination of transverse and longitudinal movement, often seen on the surface of
water.
2. Electromagnetic Waves: Examples: Radio waves, microwaves, infrared radiation, visible light, ultraviolet
radiation, X-rays, and gamma rays.

1. I T
o ITITY TN ATCTA FH FUA AT B AT HY AT F wioad gl § (3&eR0T & o, o A
TEN, TH dR WX ad@n|
o ICICEY WL ATLIH A SU AT I AT N fGAT & FAGICR gl & (3aTeXor & forg, eaf
aan)|

o  HAL AW ATIEY 3N eIy atfa & U FASA, ST HFE U B HAG I WM S B
2. fdega gFahIT o’
3ETEI0T: A aET, ATSHIAT, 3aeFd TAThIOT, TT Wehlel, eI f3famor, tag-Y 3R amaAr fheol|

131. Which one of the following doesn’t contain silver ? o/ AFATATET 7 I TR KT 18! ghal g2 [NCERT
Exemplar]

(A) German Silver/sTaeT AeaR
(B) Horn Silver/glel flea’
(C) Red Silver3 eax

(D) Lunar Caustic/efsT{ FITECH

e  German Silver does not contain any silver, it is an alloy of copper, nickel and zinc which looks silver in
colour but does not contain any silver.

o T e F T AG AN &, T A9, b 3R e B R arg &, S @1 A =iEr Saw
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Q 132: The flow of energy in an ecosystem follows the laws of ? /ATRTEATIhT T H FolT T UdTg fohareh fATAT
T UTeleT AT g2 [NCERT Exemplar]
(A) Probability/HTeTdr
(B) Photochemistry/qflﬂ'a?ﬁﬂ-_@'
(C) Kinetics/FeTeTad
(D) Thermodynamics/ YA
o  TIRTEYUTARr dF F FoIT T YAIE ISATNIRT & HATAT 3T 10% [T ST dTeled T g,
SSAEAR & Ugel A & AR, Fofl o A 918 Sl § AR 7 & aFse i S §, afedw g
ol Toh & ¥ g ®7 # qRafdd g 8. g adH & 38R, Tl 2iftheh T 9 Jofl &l
o oEd FSAT & & & G Sl 8. 10% [d7 & 37aR, Teh gifther TR & g@R giftheh TR W
Hael 10% Foil & TAATIRT Bldl &, AT 90% Foll ST, TATIAT GTeha13iT, 3R FsAT & &7 & @r
T 8.
o SSHRIAH FT Igell [AIe:Tg T Fgar & f6 FoT Sl g7 a1 75¢ AGT fohar S @ewa,
o Ig shael T T § g ®7 & gRafdd & dehdr 8. g8 3d & & aRfeufadr o
A, @ diul a6 St &1 yarg, AR Y it & SuIFAnsit ae, St & Hor A F Hg
aRads el giar ¢.
o JEHANIIH HT g@ fAH: I§ e &gl § & Foil & Tcdeh FACRT & WY, FS Soll
FSAT & T H @ ST &, 3901 3 g o aiRfEufadhr a7 & 391 gag & 9@ @woT #,
FT Fol FOAT & & H @ Sl 8, (68 I8 Tuse g1 e & fh 3ot RifAs weh fewr &
gIaT &.
o 10% forem: ag fgw aarar ¥ & ve Cifther TR & g@¥ gifthes TR W del 10% Foll &
TYATART Bl &, AT 90% FaiT T 3TN g 3= afafaferay, Tara=mr ufskanaid, ik
FSAT & FT H I g.

133. A few substances are arranged in the increasing order of ‘forces of attraction’ between their particles. Which
one of the following represents a correct arrangement? /& qerf I 3oTch SHUTT oh ST 'HTHYUT TAll' o dGcd o
gafeyd forar ar § | fAsafaiad & &+l O caawar @8y &2 [NCERT Exemplar]

(a) Water, air, wind/dTe1l, arg, gdar

(b) Air, sugar, oil/dry, Ay, ool

(c) Oxygen, water, sugar/ma?f , 9Tt Y

(d) Salt, juice, air/sTHh, TH, gdl

Forces of attraction between the particles increase in the order of gases < liquids < solids hence, the correct
arrangement is oxygen, water, sugar.

HUTH & ST YT §oT I <ol <31 o 3l H TodT &, SHTOIT TLET STGEUT JHTadIsteT, a1y, Weir g

134. On converting 25°C, 38°C and 66°C to Kelvin scale, the correct sequence of temperature will be| ?

25°C, 38°C 3R 66°C T Hfcast YA F Tgelel I ATIHTA T Tl 5 19| 2 [NCERT Exemplar]
(2) 298 K, 311 K and 339 K
(b) 298 K, 300 K and 338 K
(¢) 273 K, 278 K and 543 K
(d)298 K, 310 K and 338 K
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Solution:

(a) K=25°C+273

Hence 25°C =273 +25=298 K
38°C=273+38=311K

66°C =273+ 66 =339 K

135. The boiling points of diethyl ether, acetone and n-butyl alcohol are 35°C, 56°C and 118°C respectively. Which
one of the following correctly represents their boiling points in Kelvin scale?

STSUTAS $UT, THIEIS 3N UeT-sgLTgel Hohigel & Faalieh shAl: 35°C, 56°C 3R 118°C 8| eATi@a # &

el AT Ficae YA W 3oeh Fauieh o TEY &7 A &ATAT £2? [NCERT Exemplar]
() 306 K, 329 K, 391 K
(b) 308 K, 329 K, 392 K
(c) 308 K, 329 K, 391 K
(d) 329K, 392 K, 308 K
e 35°C=273+35=308K
e 56°C=273+56=329K
e 118°C=273+118=391K

136. Which condition out of the following will increase the evaporation of water?/feF=1Tolf@d 7 & i & YT
qTeil & QrsUIei T ahl §GIeai? [NCERT Exemplar]

(a) Increase in temperature of water/dT=il o JTIHTeT 3 Ej_?\'ﬁT

(b) Decrease in temperature of water/dTeT & ATIHTT H HAT

(c) Less exposed surface area of water/dTs11 ST el Yell g SE

(d) Adding common salt to water/dTeil 7 HTH T8 [Hollel &

Ans-
e Rate of evaporation increases with increase in temperature of water.

o TSI &1 ATIHT Sco ¥ aTSdauT T eT Iaa &

e The condition that increases the evaporation of water is an increase in temperature. When the temperature
of water increases, the speed of the water molecules increases, causing them to gain enough energy to go
from the liquid state to the gas state.

o Increase in temperature: Increasing the temperature of water increases the rate of evaporation. This
means that water will turn into vapor faster.

o Increase in surface area: The larger the surface area of water, the greater the evaporation. This
means that more water will be available to turn into vapor.

o Increase in wind speed: Increasing wind speed increases the rate of evaporation. This means that
the wind will carry water into vapor faster.

o Decrease in humidity in the air: Decreasing the humidity in the air increases the rate of
evaporation. This means that the wind can carry more water.

o UG & arsHIe]OT AT ot arell AT AYAT & deftr g1 Sid el &1 dA9HAET d6or g, al
arel & U AT Al T §, O 9 O aen ¥ A awwr A 9« & fAv gdied st
gred R B

o YA #H Jefd: Ul & dYAT H Jefd & asheror FY e 9¢ S g1 SHAT Aderd
¢ T Ui doi ¥ arsq # Scof S|

o Wg &F H Jefd: Ul #1 Flg &TF TSI o371 g1, arsdieor 3= g 3ifash gram|
ST A g foh ATS Glell arsd H Jgolel & folT 3Teles gam|
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o gar &1 afq # gefer gar v aify F gefr @ arsdieor &Y e 9¢ S &1 SHHT Aol
¢ fr gar aoi & urelr & arsq #F o e

o AT H 3ear # FAT gar F IEAT FH gl § arsdieor fY e 9 FTaY &1 SHE
Adad § & gar 3% el o ST T g

137. In which of the following conditions, the distance between the molecules of hydrogen gas would

increase?/ fAFATalld # & fr Fufa # grggier s 3-TUI3-ﬁ P q:ﬁ' §¢ SMEaf? [NCERT Exemplar]
(i) Increasing pressure on hydrogen contained in a closed container./8¢ shc¢eIX 3 FI’?E‘\E\" gIgglole] Y q&ld dglelT|
(ii) Some hydrogen gas leaking out of the container./dcalX & IS gTS3IoTeT 31 T RATT g W gl
(iii) Increasing the volume of the container of hydrogen gas./gT83Ilel 3T & 9T & I TGl |

(iv) Adding more hydrogen gas to the container without increasing the volume of the container./&ceIX 3T TIcTeT
JGTT T ek 7 31T gT33IoTeT 31 S|

(a) (i) and (iii)

(b) (1) and (iv)

(c) (ii) and (iii)

(d) (it)and(iv)

Ans-

Solution:- (ii) If some hydrogen gas is leaked from the container the remaining gas will occupy the whole space and

the distance between the molecules will increase./Tf¢ el & IS E'IBTQGIFT g dFaraeg, ardwdg CIS'
TUTeT I heoll Y I 3T 3OT3HT o oIy ¥ g8 §g e

(iii) If the volume of the container is increased, same number of molecules will occupy that space. Hence, the
distance between the molecules will increase./ITe UTT T A o AT ST A 31T 67 TE&IAT H AT 38 ESIIE ]

TR ool T ofdT| 3TcT: T3 & oIy T gl g Seaf|

138. Seema visited a Natural Gas Compressing Unit and found that the gas can be liquefied under specific
conditions of temperature and pressure. While sharing her experience with friends she got confused. Help her to

identify the correct set of conditions. ? /&VHT & Teh HTehfcteh I TS Fehrs o1 aRT feham 3 o o 3 &t
ATIATS 3R gare S fafRrse Feufart & e gaieh fonam ST Hehell 1 ST 3 AT 39eY 37737 T ST &l
gaY 98 ¥R 8 15| aRFEATIAt & TEr Qe i ugane R & 3T Acg Y| ? [NCERT Exemplar]

(a) Low temperature, low pressure/shdH dT9HT, hH Gdld

(b) High temperature, low pressure/3Td dT9# T, fol#T gara

(c) Low temperature, high pressure/shdH dTIHT, 3T gelld

(d) High temperature, high pressure/3Td dT9HT, 3Td Gdld

In a natural gas compression unit, high pressure and low temperature are used to compress the gas. When the gas is
compressed, its molecules come closer to each other, causing it to turn into a liquid state.

whideh A AN b H, A B NS A & AT 3T garg 3R A AYA H1 3T
ST 1 S A9 TS fhar STar &, o S8 U] Th-gER & w9 I S B, fHHd I§ el
39EAT H d&ol ST B

139. Which one of the following sets of phenomena would increase on raising the temperature? /dT9HTeT dGTel I
eIt fad 7 & ST AT gREesr 96972 [NCERT Exemplar]
(a) Diffusion, evaporation, compression of gases/31T & TIAROT, ATSHHIOT, TSI
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(b) Evaporation, compression of gases, solubility/arsdIehtoT, 3T &7 TS, Wm
(c) Evaporation, diffusion, expansion of gasesm T AT 0T, TR, fTaEdR
(d) Evaporation, solubility, diffusion, compression of gases/3[aT 3T aTSYIehRTUT, Wm, TR, ddET

Ans- Rate of evaporation, diffusion and expansion of gases increase with increase in temperature./dT9HTeT & qqﬁr

& @y 3t & arsdieoT, JER 3R TR 1 X 96 S |

e Increasing the temperature increases phenomena such as evaporation, diffusion, and expansion.

e Evaporation: As the temperature increases, the kinetic energy of molecules increases, giving them enough
energy to move from the liquid state to the gas state.

e Diffusion: Increasing the temperature increases the kinetic energy of molecules, causing them to spread out
faster and farther.

e Expansion: As the temperature increases, the distance between the particles of a substance increases, causing
the volume of the substance to increase.

o YA Seled I AT (evaporation), TR (diffusion), R fAEAR (expansion) S IREEATT I
ST 8.

o TTSUIHIUT: SIS ATIATT 6T g, dr 3'1'0:)[3-1}[' &r ItfasT FAT (kinetic energy) Gl &, forad & ool
e ¥ A 3TEW H I & v q=&ied Fe wed a1 E

o YER: AYANT Sl ¥ OB A AT FSA gl &, a7 I & 3R 34f9% g¥ a Herd €.

o AR QAT Fea W Uard F FUil & i FHr g Fed g, TEd 9 & AT Fedr g

140. The chemical symbol for nitrogen gas is ? /ATS¢IoTe] 3T T TR Uclleh FAT &2 [NCERT Exemplar]
(a) Ni

(b) N2

(c)N+

(dN

Ans- Nitrogen gas exists as a diatomic molecule hence, its symbol is N2.

SATSEISIeT 3 &fAUNATIT 370] o &9  UTS STl &, SHTTT SHPT Teileh N2 &

The chemical form of N2 is nitrogen gas (molecular nitrogen), represented as N=N or N2. It is a diatomic molecule
consisting of two nitrogen atoms joined by a strong triple bond.

e  Chemical Formula:The chemical formula of nitrogen gas is N2.

e  Molecular Structure:N2 is a diatomic molecule, which means it is made up of two nitrogen atoms.

e Bonding:There is a triple bond between the two nitrogen atoms (N=N), which makes it very stable.

e  Abundance:Nitrogen makes up about 78% of the Earth's atmosphere.

N2 & TAAfdAd G ATSslel 3 (molecular nitrogen) 8, fR N=N IT N2 gaRT &2Tam SIiam g1 I8 Th
STAIAIS ] § TaH & ASeIol WA Ush Holgd euel dles GaRT I3 &1 &.

T gA:ASers I FT TaiAd I N2 g

30T TN Ueh SfAURATIH 39T &, foraehr 318 & o I8 aF =Argeiole A3t & §ar giar .
5. & ASLSA AR & F v R dies Far & (N=N), 5 3¢ Jga IR Ffrerr &,

TR ATSEIoTal J2dl & argHSS I o911 78% fREar &.




